Authorized Representative

SABRIEL M. SALISTRE JR., PEE, DIT SUC President

for Administration and Finance RUSS ALLEN B.

JEANNETH P. DARROCA, EdD

THIS AGREEMENT, made this day of between the ILOILO SCIENCE AND TECHNOLOGY UNIVERSITY, a public institution of higher learning, organized and existing under Republic Act No. 10595, with office address at Burgos Street, La Paz, Iloilo City, Philippines, represented herein by DR. GABRIEL M. SALISTRE, JR., in his capacity as SUC President III (hereinafter called the "ISAT U") and Huervana St., Brgy. Divinagracia, La Paz, Iloilo City, Philippines represented by its Authorized Representative, MR. AXCEL R. FORBES (hereinafter referred to as the "SUPPLIER");

WHEREAS, ISAT U invited Bids for certain goods and ancillary services, particularly the PROCUREMENT OF SUPPLIES AND MATERIALS (ELECTRONICS DEPARTMENT) with Project Reference No. ISAT U GOODS - 2024 - 03 - 053 and has accepted a Bid by the SUPPLIER in the sum of FIVE HUNDRED FORTY THOUSAND PESOS (PhP 540,000.00) ONLY, hereinafter called the "Contract

## NOW THIS AGREEMENT WITNESSETH AS FOLLOWS:

- 1. In this Agreement words and expressions shall have the same meanings as are respectively assigned to them in the Conditions of Contract referred to;
- 2. The following documents as required by the 2016 revised Implementing Rules and Regulations of Republic Act No. 9184 shall be deemed to form and be read and construed as integral part of this Agreement, viz.:
  - Philippine Bidding Documents (PBDs);
    - Schedule of Requirements:
    - Technical Specifications:

Item No.	Description/Brand	Qty/ Unit	Unit Price	Total Price
1	Soldering Lead - Special, 0.8 mm 60/40 tin lead ratio, 1 pound/ spool   Brand: Ichiban	5 spools	650.00	3,250.00
2	breadboard jumper wire - male to female, 10cm, 20/set   Brand: generic	10 sets	20.00	200.00
3	breadboard jumper wire -female to female, 10cm, 20/set   Brand: generic	10 sets	20.00	200.00
4	breadboard jumper wire - male to female, 20cm, 20/set   Brand: generic	10 sets	20.00	200.00
5	breadboard jumper wire - female to female, 20cm, 20/set  Brand: generic	10 sets	20.00	200.00
6	breadboard - full size, 840 holes with I power rails on both side, good quality Brand: electriq	50 pcs	250.00	12,500.00
7	copper clad - single sided, approx 12"x12", FR 1 Brand: generic	10 sheets	520.00	5,200.00
8	AC plug - Male, Plastic with screw, heavy duty, white   Brand: omni	50 pcs	25.00	1,250.00
9	AC outlet - Convenience outlet, plastic, white, 4-gang, universal, white, heavy duty with spring loaded   Brand: omni	50 pcs	150.00	7,500.00
10	extension cord - extension cord, heavy duty with voltage surge protector, a switch coupled with circuit breaker, 4 parallel outlets with grounding, approx 3 m, max capacity-2500watts   Brand: panther	10 pcs	900.00	9,000.00
11	connector - XLR audio connector, 3 contacts, female, heavy duty   Brand: generic	20 pcs	80.00	1,600.00
12	connector - XLR audio connector, 3 contacts, male, heavy duty   Brand: generic	20 pcs	80.00	1,600.00
13	connector - BNC connector, male, good quality Brand: generic	10 pcs	70.00	700.00

connector - BNC connector, female, good quality   Brand: generic 10 pcs	
	66.00 660.00
connector - PL 258, male, UHF connector with RG 58 reducer   Brand: generic 10 pcs 22	20.00 2,200.00
16 connector - SO 239 female, UHF connector Brand: generic 10 pcs 17	70.00 1,700.00
17 connector - SMA, male, good quality Brand: generic 20 pcs 41	0.00 8,200.00
18   Connector - SMA, male, good quality Brand: generic 20 pcs 41	0.00 8,200.00
adapter - SMA, female to BNC female, good quality   Brand: generic 10 pcs 40	0.00 <b>4,000.00</b>
adapter - SMA, male to BNC female, good quality   Brand: generic 10 pcs 40	0.00 4,000.00
	6.00 <b>1,680.00</b>
Soldering Flux - Soldering flux, clean rosin flux, lead free at least 10cc   Brand: generic variable resistor - potentiometer, 10 kilo ohms,	0.00 <b>1,800.00</b>
Small   Brand: generic 50 pcs 18	8.00 <b>900.00</b>
OUTV 7-Way   Brand: UDT   8 DCS   1 140	0.00 <b>9,120.00</b>
HDMI Cord - HDMI 2.0, gold plated connector, 5 meters, heavy duty, 2-way   Brand: vention  bobbin - plastic bobbin, 1.25 x 1.25", standard Brand: generic  bobbin - plastic bobbin, 1.25 x 1.5"oversize Brand: generic  10 pcs  42  28 iron core - IE laminated iron core, standard, 1.25" center leg   Brand: generic  29 iron core - IE laminated iron core, 1.5" center	0.00 <b>3,350.00</b>
Brand: generic 10 pcs 42  Dobbin - plastic bobbin, 1.25 x 1.5"oversize 10 pcs 42	2.00 420.00
Brand: generic 10 pcs 46	5.00 <b>460.00</b>
1.25" center leg   Brand: generic 3 kilos 220  29 iron core - IE laminated iron core, 1.5" center 3 kilos 246	0.00 660.00
leg   Brand: generic 3 Kilos 216	6.00 648.00
coated   Brand: philflex 2 kilos 1,200	.00 2,400.00
31 wire - Magnetic wire, copper, AWG #25, double coated   Brand: philflex   2 kilos   13,200.	.00 <b>26,400.00</b>
wire - telephone wire, 3 core, solid wire, untwisted,#22   Brand: philflex wire - Speaker Wires AWG#16 red/black	.00 <b>4,560.00</b>
	.00 8,400.00
Brand: philflex  UTP Cable - CAT 5E or higher 100m good quality   Brand: premium line  2 spools 4,200.	.00 <b>6,000.00</b>
Brand: generic 3 sets 300.	00 1,500.00
Drill Bits - drill bits 1/32", or 0.7mm heavy duty 10pcs/pack   Brand: generic 20 packs 1,170.6	00 23,400.00
Drill Bits - Step Drill Bit straight groove 4-14 mm   Brand: generic  Drill Bits - Step Drill Bit straight groove 4-14 6 sets 220.0	00 <b>1,320.00</b>
Drill Bits - Step Drill Bit straight groove 4-20 mm   Brand: generic 6 sets 370.0  Drill Bits - Step Drill Bit straight groove 4-32 mm   Brand: generic 7 sets 360.0	00 <b>2,220.00</b>
Drailer generic	00 <b>2,520.00</b>
motor - servo motor for Arduino, SG 90 model, 4.8-6 volts, 60 degrees per side   Brand: lafvin	00 <b>1,190.00</b>
motor - servo motor for Arduino, 4.8-6 volts, 60 degrees per side, 5 KG capacity   Brand: 9imod 2 pcs 840.0	<b>1,680.00</b>
Connector - RJ 45 connector Heavy Duty with sleeve 100 pcs/box   Brand: generic 2 boxes 350.0	700.00

	42	C-LL DC ES	qui a		
	43	Cable - RG 58 coaxial cable, 50 ohms, copper, good quality, approx 100 meters   Brand: swan	1 spool	19,982.00	19,982.00
	44	Resistor - resistor, 1 K $\Omega$ 1/2 watt Brand: generic	50 pcs	3.00	150.00
	45	Resistor - resistor, 2.4 K $\Omega$ 1/2 watt Brand: generic	50 pcs	3.00	150.00
	46	Resistor - resistor,500 $\Omega$ 1/2 watt Brand: generic	50 pcs	3.00	150.00
	47	Resistor - resistor, $100\Omega$ 1/2 watt Brand: generic	50 pcs	3.00	150.00
41	48	capacitor - 10uF, 16v   Brand: generic	50 pcs	6.00	300.00
Authorized Representative	49	LED - led, <b>super bright</b> , 2.5 mm GREEN Brand: generic	100 pcs	6.00	600.00
Represe	50	LED - led, <b>super brigh</b> t, 2.5 mm RED Brand: generic	100 pcs	6.00	600.00
paz	51	IC - IC, LM 555, 8 pin IC   Brand: TI	100 pcs	54.00	5,400.00
hor	52	IC - IC, 4017, 16 pin IC   Brand: TI	100 pcs	108.00	10,800.00
Auth	53	Speaker - 2 way Passive Speaker 100mm bass and 13 mm dome tweeter, built in crossover 100W   Brand: CROWN	6 units	5,600.00	33,600.00
5	54	Bracket - Speaker wall Bracket for item 53 Brand: Generic	6 pcs	2,100.00	12,600.00
SUC President III	55	Soldering Iron - 100W Soldering Iron Heavy Duty   Brand: Goot	2 pcs	1,680.00	3,360.00
siden	56	Crimper - UTP cable - RJ45 connector crimper heavy duty   Brand: attack shark	10 pcs	900.00	9,000.00
UC Pre	57	Crimper - Multi-Connector/Terminal Crimper heavy duty   Brand: generic	10 pcs	220.00	2,200.00
S	58	Solder Sucker - Desoldering Pump, heavy-duty, plastic material   Brand: generic	15 pcs	1,020.00	15,300.00
	59	Screw Driver - Philips screw driver 8" x 1/4 Heavy duty Chrome-vanadium   Brand: S-Ks	20 pcs	305.00	6,100.00
	60	drill - mini electric drill handheld, 5v 2A, usb powered   Brand: generic	15 pcs	480.00	7,200.00
ance	61	pliers - diagonal cuttings pliers 4", with spring, durable and good quality   Brand: stanley	30 pcs	420.00	12,600.00
and Fin	62	pliers - long needle nose pliers, 4", with spring, durable and good quality   Brand: ameriman	30 pcs	210.00	6,300.00
VP for Administration and Finance	63	analog tester - multitester, up to $200M\Omega$ resistance measurement, with probes store in a casing-Analog   Brand: wheeler	30 pcs	3,000.00	90,000.00
for Adn	64	tester - capacitor tester, digital, approx 200pF~20000uF   Brand: hold peak	5 units	3,000.00	15,000.00
	65	power supply - switching power supply, 30 Ampers, 12 volts, heavy duty with fan Brand: makerlab	5 units	2,000.00	10,000.00
	66	helping hand - Soldering Helping Hand/3rd hand with magnifier   Brand: generic	15 units	800.00	12,000.00
	67	crimper - UTP cable - RJ45 connector crimper heavy duty   Brand: generic	10 pcs	1,500.00	15,000.00
Deph, CIT	68	crimper - Multi-Connector/Terminal Crimper heavy duty   Brand: attack shark	10 pcs	500.00	5,000.00
Δ	69	Rewinder machine - Rewinder machine, hand crank with digital display   Brand: generic	5 units	2,520.00	12,600.00
	70	Tube Bender - Aluminum Tube bender, 3/8" diameter, good quality   Brand: generic	5 pcs	300.00	1,500.00
	71	Wire gauge - Wire gauge, (round AWG), stainless steel, good quality   Brand: generic	5 pcs	370.00	1,850.00

RUSS ALLEN B. NAPUD, DIT

	TOTAL BID AMOUNT		PhP 540,000.0	
	Requested by: Jeanneth F. Darroca  TOTAL BID AMOUNT			
	conduct of laboratory activities.			
	***** Nothing Follows ***** For official use of Electronics Section in the			
	Delivery Period: 30 calendar days			
81	control valve - one-way flow control valve, pneumatics medium/middle size   Brand: CNZG	4 pcs	200.00	800.00
80	cylinder - double acting cylinder, pneumatic, medium/middle size for stroke and bore Brand: CNZG	2 pcs	800.00	1,600.00
79	cylinder - single acting cylinder, pneumatic, medium/middle size for stroke and bore Brand: CNZG	2 pcs	1,185.00	2,370.00
78	plastic tubing - pneumatic plastic tubing, 4x0.75 Brand: generic	20 meters	165.00	3,300.00
77	SWR Power Meter - Analog VHF-UHF SWR and Power Meter, Cross needle   Brand: Daiwa	1 unit	6,500.00	6,500.00
76	SWR Power Meter - Analog HF-VHF SWR and Power Meter, Cross needle   Brand: Daiwa	1 unit	6,500.00	6,500.00
75	Antenna Analyzer - Antenna Analyzer, standalone (Portable)unit 1.8-500 MHz, Cross Pointer Analog display (SWR&Impedance) Brand: Comet Antennas	1 unit	32,000.00	32,000.00
74	Hammer - Hammer, Hardened steel claw with fiber glass handle   Brand: ingco	3 pcs	350.00	1,050.00
73	Taper Reamer - Taper reamer, 3-13mm, high carbon steel, T handle, good quality Brand: generic	5 pcs	270.00	1,350.00
72	measuring tape - Measuring tape, 3 meters with lock, big,plastic casing, good quality Brand: tolsen	5 pcs	270.00	1,350.0

- iii. General and Special Conditions of Contract; and
- iv. Supplemental or Bid Bulletins, if any
- Winning bidder's bid, including the Eligibility requirements, Technical and Financial Proposals, and all other documents or statements submitted;

Bid form, including all the documents/statements contained in the Bidder's bidding envelopes, as annexes, and all other documents submitted (e.g., Bidder's response to request for clarifications on the bid), including corrections to the bid, if any, resulting from the Procuring Entity's bid evaluation;

- iii. Performance Security;
- iv. Notice of Award of Contract; and the Bidder's conforme thereto; and
- V. Other contract documents that may be required by existing laws and/or the Procuring Entity concerned in the PBDs. Winning bidder agrees that additional contract documents or information prescribed by the GPPB that are subsequently required for submission after the contract execution, such as the Notice to Proceed, Variation Orders, and Warranty Security, shall likewise form part of the Contract.
- In consideration for the sum of FIVE HUNDRED FORTY THOUSAND PESOS (PhP 540,000.00) ONLY or such other sums as may be ascertained, the AEP SYSTEMS INTEGRATION INC. agrees to supply and deliver various SUPPLIES AND MATERIALS (ELECTRONICS DEPARTMENT) in accordance with his/her/its Bid.
- The ILOILO SCIENCE AND TECHNOLOGY UNIVERSITY agrees to pay the above-mentioned sum in accordance with the terms of the Bidding.

IN WITNESS WHEREOF the parties hereto have caused this Agreement to be executed in accordance with the laws of the Republic of the Philippines on the day and year first above written.

ILOILO SCIENCE AND TECHNOLOGY UNIVERSITY (ISAT U)

AEP SYSTEMS INTEGRATION INC.

Ву:

By:

GABRIEL M. SALISTRE, JR., PEE, DIT

SUC President III

AXCEL R. FORBES Authorized Representative

WITNESSETH:

JEANNETH F. DARROCA, EdD

Dean, CIT

ROLANDO MARKAGE

RUSS ALLEN B. NAPUD, DIT

Vice President for Administration and Finance

REPUBLIC OF THE PHILIPPINES:		
CITY OF ILOILO		S.S
X	X	

## **ACKNOWLEDGMENT**

Before me, a Notary Public, in the City of Iloilo, this day of, 2024 personally appeared the following persons who exhibited their identification cards to establish their identities, to wit:						
	Name	Government ID	Place Issued	Date Issued		
1	GABRIEL M. SALISTRE JR., PEE, DIT	<u>ID NUMBER</u> <u>04-0232</u>	ISAT UNIVERSITY ILOILO CITY	05 August 2023		
2	AXCEL R. FORBES	4931-0352-3074-095	2 ILOILO COY	25 may 2023		

They are known to me to be the same persons who executed the foregoing instrument and they acknowledged to me that the same is their free, voluntary act and deed as well as the voluntary act of the institution / agencies they represent.

The instrument consists of six (6) pages including this page wherein this acknowledgement is written and duly signed by the parties and their witnesses on each and every page hereof.

WITNESS MY HAND AND SEAL, on the date and place above written.

Doc No. Page No. Book No. Series of

2024

NOTARY PUBLISH NOTARY PUBLISH NOTARY PUBLISH NOTARY PUBLISH NOTARIAL PROPERTY NOTARI

2ND FLR. ROOM ZOWN I INDINAGRACIANO IZNART ST. (LUILD CITY

BP NO. 324747 / 12-05-2023 / PASIS CITY CY NO. 93369978 / O 1-05-2024 / ILOILO CITY POLL NO. 33945-MCLE NO. VII-0009594 / NO. 10 UNTIL 2-14-2025